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QID : 201 - Select the related word from the given alternatives.

Screw : Screw driver :: Nail : ?
few arw fashedt & & et use I g

TRy fer: ?
Options:

1) Nail driver

Hrer HF

2) Polish

iferer

3) Steel

el

4) Hammer

gatsr

Correct Answer: Hammer
galtsr

Candidate Answer: Hammer

I

QID : 202 - Select the related letters from the given alternatives.
ACE: YAC:: BDF:?

few 1w oot 3 & Fafta s & gfw
ACE : YAC:: BDF:?
Options:

1) PRS

2) XYA

3) ZBD

4) FDB
Correct Answer: ZBD
Candidate Answer: ZBD

QID : 203 - Select the related number from the given alternatives.
10:1000::2:?

fu 71w fashed’ & & Fefta Fear & giav)

10:1000::2:7?

Options:

1)4

2)0.5

3)20

4)8
Correct Answer: 8
Candidate Answer: 8

QID : 204 - Select the odd word from the given alternatives.

fRrw aTe Rerest #F & frwar ereg 1 gVl


http://thepracticetest.in/cs_cglet1_17/logout.php?appid=1368062d74107fc05177712c90c3885c
http://164.100.129.99/challengesystem/sendrollno.jsp?rollno=7007700285&scode=138&key=33eeeb880bb52f80f359491530e07049

Options:

1) Batsman

eolarl

2) Umpire

3R

3) Bowler

Feare

4) Wicket-keeper

e I

Correct Answer: Umpire
AR

Candidate Answer: Umpire
IURR

QID : 205 - Select the odd letters from the given alternatives.

T 1w et & & fawer et &1 gfw)
Options:

1) CEG

2) IKM

3) ORU

4) VXZ
Correct Answer: ORU
Candidate Answer: ORU

QID : 206 - Select the odd number from the given alternatives.

fw 1w fasmed’ & & fawe dear ar gfav
Options:

1) 42

2)84

3)91

4)71

Correct Answer: 71

Candidate Answer: 71

QID : 207 - A series is given, with one wor [ternative from the given ones that will complete the series.

nature, ensure, tense, spent, spurn, ?
Teh JeTohat feram T &, foraet ueh 2reg o] T AT S 3efshat T 9 F
nature, ensure, tense, spent, spurn, ?
Options:

1) pushup

2) thrash

3) upturn

4) asset
Correct Answer: upturn
Candidate Answer: [ NOT ANSWERED ]

QID : 208 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
R,MILFD,?
Teh 37eTsha 18T a1 B, TSe Ueh U ofed &1 QU a1v faehedl & & a5 HEY fashed YT St iefshet 1 T |

R,M,LFD,?



Options:
1)B

2)C
3)A

4)E
Correct Answer: C
Candidate Answer: C

QID : 209 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
-0.5, -0.35, -0.2, -0.05, ?, 0.25
T 31efha T ara B, Fod Ueh Hedn e ¥ few arw fashedt A & a7 @ sk iAw S s B qu |

-0.5, -0.35, -0.2, -0.05, ?, 0.25

Options:
1)-0.1

2)0.1
3) 0.15

4)-0.15
Correct Answer: 0.1
Candidate Answer: [ NOT ANSWERED ]

Y

QID : 210 - Aayush's birthday is on Monday 22nd May. On what day of the week will be Neerav's Birthday,in th;éme year if Neerav was born on 30t October?

Y T SFeAfee HHIN 22 7S &1 § | A 7RG HT STodl 30 rergeR Pl g7 AT A 3 a AR &
Options: :
1) Monday
AHIR

2) Wednesday
FYAR

3) Friday
NETIRY

4) Thursday
IEAR

2
Correct Answer: Monday

THAR

Candidate Answer: Monday

THAR

QID : 211 - The weights of 4 boxes are 90, 30; 20 and 50 ‘kilograms. Which of the following cannot be the total weight, in kilograms, of any combination of these
boxes and in a combination a box can be used only once?

IR FFET &I gatel 90, 30, 203ﬁ150mm%|ﬁmﬁéﬁﬁﬁwxmaﬁmﬁ@m,mmﬁaﬁﬂmaﬁﬁméaﬁrwmﬁwm
TS & IR JAT 7 AT ST Tl &7

Options:
1) 190
2) 170
3) 100
4) 150

Correct Answer: 150
Candidate Answer: 150

QID : 212 - From the given words, select the word which cannot be formed using the letters of the given word.
INFERNAL
el fashedl & & dg oo AT SiY fGT T sz & 3R T TATT Hieh AL ST ST Hehell:

INFERNAL



Options:
1) ALIEN

2) FINAL
3) LEARN

4) URINE
Correct Answer: URINE
Candidate Answer: URINE

QID : 213 - If FLOTSAM is coded as UOLGHZN, then how will PIN be coded as?

e FLOTSAM &I fandly a5 & UOLGHZN for@r Sirar &, af PIN &t 33 i & aFar forar sireem?

Options:
1) KRM

2) GEH
3) OBI

4) DVW
Correct Answer: KRM
Candidate Answer: KRM

o

QID : 214 - In a certain code language, '+' represents X', '-' represents '+', 'x' represents '+' and '+' repres -'f What is the answer to the following question?

234x9-12+4=7?
TR IS 9T #, '+' & AT X' §, - F AT '+' §, X' FH Aded '+ § AR '+ w1 Adew ' §| e

234x9-12+4=7?
Options:

1) 74

2)48

3) 94

4)82

Correct Answer: 74
Candidate Answer: 74 \
QID: 215 - If 23$35 = 13, 3$5 = 8 then ?

g 23$35 = 13,335 =8N 4$13 =25

Options:

1)8

2) 14

3)6

4) 49

Correct Answer: 8
Candidate Answer: 8

QID: 216 -

Options:
1) 377

2) 351
3) 336

4) 306
Correct Answer: 336
Candidate Answer: 336

QID : 217 - A migrating bird flies 40 km North, then turns East and flies 50 km, then turns North and flies 110 km, and turns to its left and flies 50 km. Where is it
now with reference to its starting position?

T T el 3car’ Y 3T 40 .. T 35T §, R O 1 3R 73 S € 31k 50 oA T 35T 8, TR 3ot T 3R 773 S § 3R 110 R de 3sar €, iR s
SIS 3R AT & 3R 50 .. T 35T &1 98 9= TR Ul & 31 el &2



Options:

1) 150 km South
150 f35.2. gfeyor
2) 150 km North
150 f5.#. 3caR
3) 70 km North
70 R 3caR
4) 70 km South
70 fr.# T, gfaor
Correct Answer: 150 km North
150 f.#. 3caR

Candidate Answer: 150 km North
150 f&.#. 3caR

QID : 218 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All clouds are fog.
Statement 2 : All fog are white.

Conclusion I : Some white are clouds.
Conclusion II : Some fog are clouds.

T # &Y T o 7y ¥ TorEss 3 & fovseny 1 3R 11 fenrer a1 &1 31T9eh! AT & 6 Sl 2T I & 918 98 ;AT a2t ¥ et wda @ gf| 3mueny oot
AT § HY T T forsenst 7§ F wla-an/Hia-3 ARTT €9 A FUT gaRT TEY fAHTe ST Thell §/Ta §, I |

FYoT 1: T SICT P B
FUT 2: Tl FgY e &1

fasd I: 3o athe aree &

forssd IL: o FieX areel €1

Options:

1) Only conclusion I follows

Fao ey I T §

2) Only conclusion II follows

Fael sy 11 Ter g

3) Both I and II follow

gt fasey 1 3R 11 T &

4) Neither I nor II follows

T oY forseny [ Ty & &7 & fasen 11
Correct Answer: Both I and II follow
gt fsehy I 3R 11 T &

Candidate Answer: Both I and II follow

et PRy I 3R II Ter &

QID: 219 -

Options:
1)

2)
3)

4)
Correct Answer:
Candidate Answer:



QID : 220 -

In the following figure, square represents Priests, triangle represents
singers, circle represents Therapists and rectangle represents Indians.
Which set of letters represents Indians who are not priests?

frofofaa arefa & o @ el 8, By ! ot g g,
g4 fafrese! @1 quifar & @R smga wRdial & uifdr 81 seRl &
BI- 1 §HE YRG! &) guidl @ ol (IRl 81 82

DTN
I/ G
)

TN

Options:

1) EF

2)IG

3)EAF

4)GEA

Correct Answer: EAF
Candidate Answer: EAF

QID: 221 -

Options:
1)

2)
3)

4)

Correct Answer:
Candidate Answer:

QID: 222 -

Options:
1)

2)

3)

4)
Correct Answer:
Candidate Answer:

QID : 223 -



Options:
1)

2)
3)

4)
Correct Answer:
Candidate Answer:

QID: 224 -

Options:
1)

2)
3)

4)
Correct Answer:
Candidate Answer:

QID : 225 -

Options:
1) 34,33,55,59

2) 14,44,69,66
3) 56,76,20,21

4) 01,40,76,89
Correct Answer: 56,76,20,21
Candidate Answer: 56,76,20,21

QID : 226 - The balance is equal to capital flows from the rest of nus capital flows to the rest of the world.

A, 2d 7 g1 arer G waTg, AV 2T & g grar gl
Options:
1) Current Account
=Te] T
2) Savings Account
Fad orEr
3) Capital Account
GelreTd e
4) Asset Account
Fafea er@r
Correct Answer: Capital Account
GelreTd e
Candidate Answer: [ NOT ANSWERED ]

QID : 227 - If a consumer's demand for a good moves in the same direction as the consumer's income, the consumer's demand for that good must be inversely
related to the price of the good is called

i et aeq] o Torw 3usiierar T AfaT 3 feem & § Ty e 3 Susiiere &1 31 & A 39 a6 & foIT IS T Hi9T T SHAT AT o WY AU Heiey gie &, 39
T ST 8

Options:

1) Law of demand

AT &7 397

2) Law of supply

afct & et

3) Law of substitution

g #r fFae

4) Law of optimal choice

geedH YaTd H g

Correct Answer: Law of demand

AT T T



Candidate Answer: Law of demand

AT &1 A7
QID : 228 - "Taxes on agricultural income" is listed in the list given in the Seventh Schedule in the Constitution of India.

" I I e dATelT X" AR o HSUTeT Y AreAet gt H G ol gl & g 21
Options:

1) Union

H

2) State

I

3) Global

ICEC

4) Concurrent

FHAAT

Correct Answer: State
Ry

Candidate Answer: Concurrent

A

QID: 229 - approves constitutional amendments.

Haunfass GAeraT @ IR Far B
Options:
1) Rajya Sabha
15T qAT
2) Ministry of Defence
T&TT FHATRT
3) Prime Minister's Office
JTAHAT BT
4) Securities and Exchange Board of India

AR sy 3Rl a8
Correct Answer: Rajya Sabha
15T qAT

Candidate Answer: Rajya Sabha
15T §AT

QID : 230 - After the defeat at Plassey, Sir was made the nawab.

T Y ST & aTe; RARTSEle &Y AR ferm
Options:

1) Mir Jafar

#H ST

2) Mir Qasim

HR wifae

3) Haider Ali

¥R el

4) Tipu Sultan

A g

Correct Answer: Mir Jafar
HR AT

Candidate Answer: Mir Jafar
#H ST

QID : 231 - Sher Shah Sur defeated which Mughal emperor?

QARG Y ¥ T3 HITel ATHh T Hioie fHar?



Options:
1) Humayun

2) T.i\mur Lang

Ao T

3) Nadir Shah

e emg

4) Ahmed Shah Abdali
GHE, ATE 37serell

Correct Answer: Humayun

Candidate Answer: Humayun

gAY

QID : 232 - As the river approaches the sea, the speed of the flowing water decreases and the river begins to break up into a number of streams called

T o UGTA-Ug Al bl YaTg AT 8 Sl § T AET 3eteh TRI 3 faenfort gy el &, by e Sl 81
Options:

1) Plateau

Erory

2) Isthmus

TYTSHEHEYT

3) Peninsula

EIRCCIE)

4) Distributaries

[EGEED

Correct Answer: Distributaries

aafer

Candidate Answer: Distributaries

afker

QID : 233 - The method of soil conservation in which rocks are piled up to slo! of water which prevents gullies and further soil loss is called?

FeT TXETOT 1 39 faftr o1 a1 e € oA SieT & JaTe @ HH A H
Options:

1) Muiching

Hed dalTAT

2) Contour barriers

AT AfHTT

3) Rock dam

EEGE]

4) Terrace farming

afeenT Wy

Correct Answer: Rock dam

CECE

Candidate Answer: Terrace farming

afehr BT

ST & it ATt 1 26T ahid & 3 #er affer 1 Uehet &2

QID : 234 - In females, the uterus is

Afgen3tt &, areiery grar gl
Options:

1) Single

Th

2) Double

ga

3) Triple

[Goicy

4) Four

Giry

Correct Answer: Single
Th

Candidate Answer: Double

EYG



QID : 235 - Which of the following is not correct?

rafaf@a 7 & i ar a8 787 82

Options:

1) Members of Chlorophyceae are commonly called green algae

FARIERE & GeEdt FI &7 AaTeT FEa B

2) Members of Phaeophyceae are commonly called red algae

BRGEH & Tt T et AareT Fea &1

3) Members of Rhodophyceae are commonly called red algae

ASETHT & T T alrel AaTel g 1

4) Members of Phaeophyceae are commonly called brown algae

ERNGTSEY F TeEa! A 437 Aarer Fea £

Correct Answer: Members of Phaeophyceae are commonly called red algae
FraTesd & et 1 drel dare Fga &l

Candidate Answer: Members of Phaeophyceae are commonly called red algae

PGS & GeEa! H e dareT Fea &

QID : 236 - Adamsia (Sea anemone), Pennatula (Sea-pen) are examples of which Phylum?

TSHTHAT (W CellaleT), deiegen (ST [es) e | & 3areior 87
Options:

1) Coelenterata

ferger

2) Aschelminthes

VTha AT

3) Annelida

LCICE

4) Arthropoda

3reifaar

Correct Answer: Coelenterata
feleger
Candidate Answer: [ NOT ANSWERED ]

QID : 237 - If the force applied on the object is in the direction of its of the object

T TRl a] O ST a1 ot a1 aTfey Y e # g ot &g
Options:

1) increases

o &

2) stops

T ST &

3) decreases

HH BN T

4) no effect

IS T e

Correct Answer: increases
e g

Candidate Answer: increases

JedT g

QID : 238 - The shape of the outer part of the ear is like a

F & TEY AT H IHRA SN erh
Options:

1) funnel

Frq

2) plate

TIT

3) drum

gH

4) disc

s

Correct Answer: funnel

Hq



Candidate Answer: funnel

9

QID : 239 - In Microsoft Excel, the () function is used to count the number of cells that contain numbers within the list of arguments.

ASHIATre Tl 7 () WeleT ST ST 3T Hell T HEAT &1 ReTclt et & Torw fomam ST § Foretat aant 7 g o &r Tt weeamd gt €1

Options:
1) COUNTIF

2) COUNT
3) SUMCOUNT

4) COUNTSUM
Correct Answer: COUNT
Candidate Answer: SUMCOUNT

QID : 240 - Fabric made from does not get wrinkled easily.

H g HUS H IR A Rerae 787 gz
Options:
1) Cotton
U
2) Flax
qcHsT
3) Silk
A
4) Polyester
giferuEe

Correct Answer: Polyester
giferuEe
Candidate Answer: Polyester

qifaueet

QID : 241 - What is formed when Carbon Dioxide is passed through Lime Wa

ST FTeT STSHTEFAISS HT Tl & Uil # Farfee T SidT § & ]

Options: g
1) Copper Sulphate

HIT Tothe \
2) Calcium Carbonate
Fieaan FrEfac

3) Magnesium Oxide
HAIART iFass

4) Baking Soda

ST Fsr

Correct Answer: Calcium Carbonate

Fioaas Fefae

Candidate Answer: Calcium Carbonate

Fioaad Frefac

QID : 242 - The salt concentration (measured as salinity in parts per thousand), is greater than % in hypersaline lagoons.

FAGOT T WigelT (ST GAR #1197 7 a0 & &9 3 AR =), Hfreraoig o 7 % ¥ 3T gIeh B

Options:
1) 50

2) 100
3) 150

4) 200
Correct Answer: 100
Candidate Answer: 200



QID: 243 - scheme launched by the Central Government aims to cover all those children by 2020 who are either unvaccinated, or are partially
vaccinated against seven vaccine preventable diseases.

e TP ST Y& A I ST ot 322 a¥ 2020 T 3o7 Folt Sl ot it &ter & foieg &k 181 ot § 1 foregy Eronl & Aameatr oY ST Fet el AT
SRt & e 37T ® I T 8

Options:

1) Deen Dayal Upadhyaya Grameen Kaushalya Yojana

E/EATS IUTEATT IMHIT e JTTaAT

2) Deendayal Upadhyaya Gram Jyoti Yojana

ErTeATeT IUTEATT A AT Astelr

3) Mahatma Gandhi Pravasi Suraksha Yojana

HETCHT ITTElY Farely Re&T Trsfel

4) Indradanush Scheme

SN Froter

Correct Answer: Indradanush Scheme

Srg Y ISt

Candidate Answer: Deen Dayal Upadhyaya Grameen Kaushalya Yojana
EITEATS SUTEATT IMHIT e TITaAT

QID : 244 - Who discovered Penicillin?

A fafeeT & @rer foraer dI?

Options:

1) Edward Jenner

TEaTE Sk

2) Niels Bohr

Ared SR

3) Sir Alexander Fleming

4) Heinrich Hertz

Foifa g

Correct Answer: Sir Alexander Fleming
Candidate Answer: Sir Alexander Fleming

QID : 245 - Who has won the most number of Gold Meda

e 7 frae Te¥r 31fi% Tl 9 of
Options:

1) Usain Bolt

38 dlec

2) Katie Ledecky

HET AT

3) Michael Phelps

ASHA e

4) Chen Long

AT AT

Correct Answer: Michael Phelps
ASHA el

Candidate Answer: Michael Phelps
A Hood

QID : 246 - Gol Gumbaz was built in which century?

AT It o TET & AT 917 AUT?
Options:

1) 15th

15 gt

2) 16th

16 ot

3) 17th

17 8t

4) 18th

18 gt



Correct Answer: 17th
17 &t

Candidate Answer: [ NOT ANSWERED ]

QID : 247 - Which of the following was the winner of the Grammy Awards 2016 "Album of the Year"?

frafaf@e 7 & I [EAR 2016 T FT "TeaH T g I ASTAT HieT AT AT?
Options:

1) Sound & Color

138 US Fel

2) 2050

2050

3) 1989

1989

4) Beauty Behind the Madness

¢ 95133 & Hsad

Correct Answer: 1989

1989

Candidate Answer: [ NOT ANSWERED ]

QID : 248 - Which of the statements given below are correct?

1. The author of the novel 'Atonement' is Ian McEwan.
2. The author of the novel 'The Sound and the Fury' is L. Ron Hubbard.
3. The author of the novel 'White Teeth' is Zadie Smith.

T B2 2 el 7 O BT 8 HUT TE E?

1. 3UITH "TeIAHE" & g ST Hhuar &1

2. 39 "2 W38 U5 ¢ FU" & oigeh Tel. et §oals
3, 3T "gTse AY" & o@s Ao Ay F

Options:
1)1and 2
13R2
2)2and3
23R 3
3)land 3

133

4)1,2and 3 \
1,23R3 \
Correct Answer: 1 and 3

13R3
Candidate Answer: [ NOT ANSWERED ]

QID : 249 - Sodimejo, the world's ‘oldest m ge of 146. Which country was he from?

TS, G & T 7 MY 7 146 aF Hr
Options:

1) India

AT

2) Pakistan

qrfeRede

3) Indonesia

EEoIRp)

4) Croatia

EaluRp)

Correct Answer: Indonesia

ESEIRe

Candidate Answer: [ NOT ANSWERED ]

&Y IAT| I8 HieT T G2 T AW AT?

QID : 250 - Who is the present Secretary General of SAARC?

THUTIRE & IdHATT AGMERIT el &7



Options:

1) Tajuddin Ahmed

R e

2) Mujibur Rehman

AR A

3) Muhammad Mansur Ali

HgFAC HEY 370l

4) Mr. Amjad Hussain B. Sial

AT 31FeTe; gt ot e

Correct Answer: Mr. Amjad Hussain B. Sial
Ay 31rere; géeT ot e

Candidate Answer: Mr. Amjad Hussain B. Sial

aﬁmgﬁaa’rf@aﬂ

QID : 251 - What is the LCM of 120 and 450?

120 31K 450 & A FHTITS FIT §?

Options:
1) 2400

2) 1800
3) 3600

4) 4800
Correct Answer: 1800
Candidate Answer: 1800

foF1 day, then A and B quit. How many days C working
alone will take to complete the remainder of the job?

QID : 252 - A, B and C can do a job working alone in 6, 9 and 18 days respectively. They all wo togﬁa of"

A, B 3R C 2 6, 9 3N 18 el 31 3rhel Ueh &1d &1 X Hehal &1 § TofY ferant 1 e, 5T A 3R B A ois 4 ¥ 3ol IH FIA §T C T AT HHA
I Q0 e A et ot ordrar?
Options:

1)9

2)6

3)12

4) 10

Correct Answer: 12
Candidate Answer: 12

QID : 253 - What is the diameter (in cm) of @ sph 6.16 sq cm?

6.16 7 .57, oo s et are aier S (et o

Options:
1) 1.4
2)0.7
3)2.8
4)2.1

Correct Answer: 1.4
Candidate Answer: 2.8

QID : 254 - The discount offered on a Shirt of Rs 500 and a pair of Trousers of Rs 1000 is 20% and 40% respectively. If Ajay bought 2 Shirt and 3 pair of Trousers
then what was the effective discount ( in %) he recieved?

T 500 ¥ & 2rE 3R 1000 T 1 va He T FHAM: 20% 3R 40% T o & el §1 A 3rera ¥ 2 o€ 3R 3 A1 e wliear ar 38 st (% ) germer ge e 82

Options:

1) 30

2)32

3)25

4) 35

Correct Answer: 35
Candidate Answer: 35

QID : 255 - If A's wealth is 4/9 times of B's and C's is 7/6 times of B's, what is the ratio of C's wealth to A's?

IR A ST 4T B & 4T § 4/9 I[AT IR C T T B H 7/6 T[T &, Y C & 0T T A & €T & T 30T 82



Options:
1) (8:21)

2) (21:8)
3) (27:14)

4) (14:27)
Correct Answer: (21:8)
Candidate Answer: (21:8)

QID : 256 - The average of four consecutive odd numbers is 40. What is the largest number?

IR SR faweT TEan3it 1 3iad 40 §1 faemeras gear i @ 82
Options:

1) 42

2) 45

3)43

4) 44

Correct Answer: 43

Candidate Answer: 45

QID : 257 - If a wholesaler, sells a tin of coffee at Rs 528 he faces a loss of 12%. Now if he decides to sell it at Rs 636, what will be the profit (in %)?

IR TF ANk SATIRY, 528 T F I T f&eT el § A 3§ 12% FT FHATA BIell ¢ 3T 3R TF SH 636 TIX GL e 1 Hhfell X g, A Fhelar oeT (% H) gram?
Options: g
1)7

2)5

3)6

4)4

Correct Answer: 6
Candidate Answer: 6

QID : 258 - A man wills 40% of his wealth to his wife and rest to his children.

U T 379+ Tufed T 40% 3790 Tl &Y 3R AW 319 sl hl ST 1
Options:

1) 150

2) 66.6

3)50

4) 20

Correct Answer: 150
Candidate Answer: 66.6

QID : 259 - If a person walks at 12 km/hr instead of 1 have walked 1 km more in the same time. What is the actual distance (in kms) travelled by

him at 10 km/hr in the same time?

IR FIS FiFT 10 . HY. / geT & g9 12 ﬁ:.#r./dtrﬁ}rr'ﬁrﬁm%, ar ag 3 g F 1 R 31 T T &1 3T AT F 38F g1 aF N IS IRAfas
31 10 .7/ ger (RF.a. 1) #r arfay & foraet &2

Options:

1)8

2) 10

3)5

4)12

Correct Answer: 5

Candidate Answer: [ NOT ANSWERED ]

QID : 260 - Albert invested an amount of x rupees in a fixed deposit scheme offering 10% per annum for 1st year and 15% per annum for 2nd year and received
an amount of Rs 20,240 after the two years. What is x (in Rs)?

Head o Teh AR STAT At & x 398 T AR A7 1 a9 & FAT 10% G a¥ &1 &3 & 3R q@ a9 & fAw 15% 9y a¥ &1 &3 & foder fman 3k & arer a1e; 20,240 & &1
TRy et | x (% H) T F?

Options:
1) 15000
2) 16000
3) 14000
4) 18000

Correct Answer: 16000
Candidate Answer: 18000



QID : 261 - If 10x/3 + 5/2(2 - x/3) = 7/2, then the value of x is?

gfg 10x/3 + 5/2(2 - x/3) = 7/2, A X & AT F4T §?
Options:

1) 3/5

2) -5/3

3)5/3

4) -3/5
Correct Answer: -3/5
Candidate Answer: -3/5

QID:262-Ifa-b =2and ab = 15, then what is the value of a3 - b3?

Ffda-b=23Rab=15% ara’ - b3 sr AT FAT §?

Options:
1) 152

2) 112
3) 108

4) 98
Correct Answer: 98
Candidate Answer: 98

QID : 263 - The sum of a fraction and 4 times its reciprocal is 13/3. What is the fraction?

Teh e 3R 39 fieeT & cgoohal & 4 9111 1 AT 13/3 ¥ g et 4 82

Options:

1) 4/3

2) 3/4

3)5/4

4) 4/5

Correct Answer: 4/3

Candidate Answer: [ NOT ANSWERED ]

QID : 264 - The 3rd and 8th term of an arithmetic progression K pectively. What is the 11t term?
T FHTAR AT FHT AR 3R 313ar ug FHAA et AP

Options:

1) 14

2) 16

3)20

4) 10

Correct Answer: 10
Candidate Answer: 10

QID : 265 - What is the reflection of the point (5, 3) in the liney = -2?

@iy = -2 & g (5, 3) & wfafda #2r §?

Options:
1)(-9,3)

2)(-5,-7)
3)(9,-3)

4)(5,-7)
Correct Answer: (5, -7)
Candidate Answer: [ NOT ANSWERED ]

QID : 266 - The distance between the points (4, 8) and (k,-4) is 13. What is the value of k?

e (4, 8) AR (k, -4) % Srar T g 13 §1 k b1 AT T &2



Options:
1)1

2)3
3)-1

4)-3
Correct Answer: -1
Candidate Answer: [ NOT ANSWERED ]

QID : 267 - What is the equation of the line perpendicular to the line 2x + 3y= -6 and having Y-intercept 3?

2x + 3y = -6 Y&T & fow 31w 3R y-ufdede 3 ge arel Y@ & TIoT 1 747 §?

Options:
1)3x-2y=6

2)3x -2y =-6
3)2x-3y=-6

4)2x-3y=6
Correct Answer: 3x - 2y = -6
Candidate Answer: [ NOT ANSWERED ]

QID : 268 - D and E are points on side AB and AC of AABC. DE is parallel to BC. If AD:DB = 2:3 and area o
quadrilateral BDEC.

DE'is 4 sq cm, what is the area (in sq cm) of

AABC 1 8751 AB 31R AC WX D 3iR E féig €1 DE, BC & @Il & Ffe AD:DB = 2:3 3 AADE & &¥thel 4
Options:

1) 25

2)21

3)5

4)9

Correct Answer: 21

Candidate Answer: [ NOT ANSWERED ]

2, TqefsT BDEC 7 avwer (3 H.af. ) 7 &2

QID : 269 - What is the value of Sin 30° - Cosec 45°?

Sin 30° - Cosec 45° T HTeT T &7
Options: \
1) (V6 - 1)/v3 \

2) (1- 2v3)/2

3) (V2 - V3)/V6

4) (1-2V2)2

Correct Answer: (1 - 2v2)/2
Candidate Answer: (1 - 2v2)/2

QID : 270 - A LMN is right angled at M. If mzN = at is the length of MN (in cm), if NL = 9v2 cm?

A LMN, M 9T FHRT &1 I msN = 45° §, ar MN & oiers (&8 &) ar g, afe NL = 9v2 d.a. &2
Options:

1) 9v2

2) 9/v2

3)18

4)9

Correct Answer: 9

Candidate Answer: 9

QID : 271 - If Cos 6 = 35/37 , then what is the value of Cot 6?

7 Cos = 35/37, ar Cot O T HIT T &7?

Options:

1) 12/35

2) 35/12

3)37/12

4) 12/37

Correct Answer: 35/12
Candidate Answer: 35/12



QID: 272 -
Which Department has the second highest number of employees?

R frammeT 3 gEY TR W Tt 31 wafandy §7

Options:
1E

2)A
3)D

4)F
Correct Answer: E
Candidate Answer: E

QID: 273 -

If 5 employees are transferred from department A to departmment F, then number of employees in department F would be between those of which two
departments?

i 5 FHARIT T FTHET A T TFHRT F & TAaRa fmar e, af [3smer F & FEaniat fr aear e e i S @ ar & 732 gei?
Options:

1)Band C

B3k C

2)Aand E

A3RE

3)Band D

B3k D

4)Cand E

C3RE

Correct Answer: B and C
B3k C

Candidate Answer: B and C

B3R C

QID: 274 -

If departments F and D are merged to create a new department artment will have the least number of employees?

e T F 33X D Y Tk 71271 AT G ST

Options:
1)G

FH FHEAY g famer 7 g

2)F
3)D

4)B
Correct Answer: B
Candidate Answer: B

QID: 275 -
If the average salary of these employees is Rs 8,000, then how much was the company's expense (in Rs. Lakhs) towards salaries?

e 37 STt & 3iHaa ad 8,000 ¥ &, A ad= & Ui St 7 =7 (@t T &) fhaar gem?

Options:

1) 4.86

2)5.12

3)3.24

4)5.88

Correct Answer: 5.12

Candidate Answer: 5.12

QID : 276 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Freedom fighters laboured (1)/ to the good of (2)/the poor enslaved masses.(3)/No Error (4)



Options:

1)1

2)2

3)3

4)4

Correct Answer: 2
Candidate Answer: 2

QID : 277 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Father was upset (1)/when he found that (2)/you are not there.(3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 278 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

To ensure a reply, please include all pertinent details in your email.
Options:

1) prompt

2) efficient

3) tardy

4) strange

Correct Answer: prompt
Candidate Answer: prompt

QID : 279 - In the following question, the sentence given with blank to be filled in
indicate it by selecting the appropriate option.

The survey provided the company with a wide of feedback
Options:
1) spectrum
2) option

3) choices
4) colours

Correct Answer: spectrum
Candidate Answer: choices

QID : 280 - In the following question, out/of the fou the word similar in meaning to the word given.

Ravage

Options:

1) Surrender

2) Construct

3) Damage

4) Liberate

Correct Answer: Damage

Candidate Answer: Damage

QID : 281 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Ravish
Options:
1) Repulse
2) Enthrall
3) Offend
4) Depress

Correct Answer: Enthrall
Candidate Answer: Repulse

QID : 282 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Rebate



Options:

1) Deduction

2) Bonus

3) Increase

4) Remission

Correct Answer: Increase
Candidate Answer: Deduction

QID : 283 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Rebuke

Options:

1) Admonition

2) Censure

3) Scold

4) Flattery

Correct Answer: Flattery

Candidate Answer: Admonition

QID : 284 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Achilles' heel

Options:

1) A fatal weakness in spite of overall strength.

2) A secret weapon to be used as a last resort.

3) A past deed which one is trying to hide.

4) The person who is blamed if anything goes wrong.

Correct Answer: A fatal weakness in spite of overall strength.

Candidate Answer: A past deed which one is trying to hide. )

prr

QID : 285 - In the following question, out of the four alternatives, select the alternative which heést ex%se.é the meaning of the idiom/phrase.

Beat around the bush NN s
Options: \ { )

1) To treat a topic, but omit its main points, often intentionally.

2) Talk bad about a person, often in the absence of that person.

3) Spend a fun jovial time.

4) 1t is wise to ignore hardships and continue with your task.

Correct Answer: To treat a topic, but omit its main points, often inten

Candidate Answer: To treat a topic, but omit its main points,

QID : 286 - In the following question, out o
improvement is needed, select "no improvemen

e alternative which will improve the bracketed part of the sentence. In case no

As long as we are in this historical city let us spend o
Options: :

1) to sightsee

2) sightsee

3) sightseeing

4) no improvement

Correct Answer: sightseeing
Candidate Answer: to sightsee

QID : 287 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

He proposed (meets) me at the temple.
Options:

1) for meeting

2) to meet

3) meeting with

4) no improvement

Correct Answer: to meet

Candidate Answer: for meeting

QID : 288 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Irritating inconvenience



Options:

1) Tranquillity

2) Hassle

3) Harmony

4) Rectitude

Correct Answer: Hassle

Candidate Answer: Rectitude

QID : 289 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

A punishment imposed for breaking a law, rule, or contract.
Options:

1) Penalty

2) Reprieve

3) Grace

4) Amnesty

Correct Answer: Penalty

Candidate Answer: Penalty

QID : 290 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) atrocias

2) atrocious

3) atroceous

4) atroacious

Correct Answer: atrocious

Candidate Answer: atrocious

TR

QID : 291 - In the following question, four words are given out of which one word is correctly spelt. Select the;rectly spelt word.
Options: S, -

1) curvacias

2) curvaceous

3) curvaceuse

4) curveaceous

Correct Answer: curvaceous

Candidate Answer: curvaceous

QID : 292 - The question below consists of a set of labelled sentences.
coherent paragraph.

options given, select the most logical order of the sentences to form a

Now I just have to keep my

X-place and not let that scrawny
Y-guy with gelled

Z-hair edge in front of me
Options:

1) YzX

2) XYz

3) ZXY

4) XzY

Correct Answer: XYZ
Candidate Answer: XYZ

QID : 293 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

The idea of a standard time

X-lives that we often take it for

Y-zone has become so integral to our

Z-granted and assume it to be a part of natural phenomena
Options:

1) ZYX

2) XYZ

3) YZX

4) YXZ

Correct Answer: YXZ
Candidate Answer: YXZ



QID : 294 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Varun ate six rotis at dinner.

Options:

1) At dinner, six rotis was ate by Varun.

2) At dinner, six rotis were eaten by Varun.

3) At dinner, Varun had eaten six rotis.

4) At dinner, had Varun eaten six rotis.

Correct Answer: At dinner, six rotis were eaten by Varun.
Candidate Answer: At dinner, six rotis were eaten by Varun.

QID : 295 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

"What is your name?" she asked him.

Options:

1) She asked him what his name is.

2) She asked him what his name has been.

3) She asked him what is his name.

4) She asked him what his name was.

Correct Answer: She asked him what his name was.
Candidate Answer: She asked him what his name has been.

QID : 296 - In the following passage, some of the words have been left out. Read the passage carefully and selectsthe correct answer for the given blank out of the
four alternatives.

Raising effective primary and district-level coverage of mental health services for the general p6puiz 'on; without requiring people to travel long

distances to see a specialist and get medicines, should be a priority. thé base ychiatrists is low in relation to the need,
the use of trained general practitioners as the first line of contact assumes importance. Som studieitshow many of them are not confident

with their training to detect, diagnose and manage mental ilinesses: N a concerted effort, primary care
physicians can be trained to help people with mild and severe problems, £ _\from anxiety disorders to depression, psychoses
and conditions arising from alcohol and substance 1

the base of psychiatrists is low in relation to the need
Options:
1) Since
2) Why
3) As soon as
4) Where
Correct Answer: Since
Candidate Answer: Since

QID : 297 - In the following passage, some of
four alternatives.

n left Out. Read the passage carefully and select the correct answer for the given blank out of the

Raising effective primary and district-level cover alth services for the general population, without requiring people to travel long
distances to see a specialist and get medicines, shol the base of psychiatrists is low in relation to the need,
the use of trained general practitioners as the first line of contact assumes importance. Some studies show many of them are not confident

with their training to detect, diagnose and manage mental illnesses. a concerted effort, primary care
physicians can be trained to help people with mild and severe problems, from anxiety disorders to depression, psychoses
and conditions arising from alcohol and substance

many of them are not confident with their training
Options:

1) lot

2) enough

3) very

4) much

Correct Answer: enough

Candidate Answer: enough

QID : 298 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Raising effective primary and district-level coverage of mental health services for the general population, without requiring people to travel long

distances to see a specialist and get medicines, should be a priority. the base of psychiatrists is low in relation to the need,
the use of trained general practitioners as the first line of contact assumes importance. Some studies show many of them are not confident

with their training to detect, diagnose and manage mental illnesses. a concerted effort, primary care
physicians can be trained to help people with mild and severe problems, from anxiety disorders to depression, psychoses

and conditions arising from alcohol and substance

a concerted effort, primary care physicians can be trained



Options:

1) To

2) For

3) But

4) With

Correct Answer: With
Candidate Answer: With

QID : 299 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Raising effective primary and district-level coverage of mental health services for the general population, without requiring people to travel long

distances to see a specialist and get medicines, should be a priority. the base of psychiatrists is low in relation to the need,
the use of trained general practitioners as the first line of contact assumes importance. Some studies show many of them are not confident

with their training to detect, diagnose and manage mental illnesses. a concerted effort, primary care
physicians can be trained to help people with mild and severe problems, from anxiety disorders to depression, psychoses

and conditions arising from alcohol and substance

severe problems, from anxiety disorders to depression
Options:

1) ranging

2) coming

3) distancing

4) longing

Correct Answer: ranging

Candidate Answer: distancing

f

the correct answer for the given blank out of the

QID : 300 - In the following passage, some of the words have been left out. Read the passage carefully andsseles
four alternatives. /d N
Raising effective primary and district-level coverage of mental health services for the genera‘lxpopulztlon, without requiring people to travel long
distances to see a specialist and get medicines, should be a priority. £ base of psychiatrists is low in relation to the need,
the use of trained general practitioners as the first line of contact assumes important%Q Som studies show many of them are not confident

with their training to detect, diagnose and manage mentalilinesses. . a concerted effort, primary care
physicians can be trained to help people with mild and severe problems, 4 { * from anxiety disorders to depression, psychoses
and conditions arising from alcohol and substance .

psychoses and conditions arising from alcohol and substance
Options:

1) abuse

2) eating

3) sale

4) withdrawal

Correct Answer: abuse

Candidate Answer: eating



